






(A)45
(B)35
(C)40
(D)30



Present ages of Vinod and 

Mahesh are in the ratio of 5:6, 

respectively. 7 yrs. hence, this 

ratiowill become 6:7, 

respectively. What is Vinod’s 

present age?

उदा:- विनोद और महेश की िर्तमान

आयु का अनुपार् 5:6 है। 7 िर्त बाद

इनका अनुपार् 6:7 होगा। विनोद की

िर्तमान आयु ज्ञार् करो ? (A)40
(B)35
(C)45
(D)30



(A)44
(B)48
(C)56
(D)60



(A)40
(B)45
(C)50
(D)55



(A)40
(B)35
(C)50
(D)45



(A)20
(B)20.5
0
(C)20.
25
(D)25



(A)37
(B)45
(C)40
(D)36



(A)45
(B)46
(C)56
(D)36



(A)45
(B)40
(C)50
(D)55



(A)33
(B)30
(C)39
(D)36



(A)48
(B)46
(C)40
(D)56



(A)44
(B)40
(C)23
(D)32



(A)45
(B)66
(C)56
(D)46




